
Lösungen – Unsere Erde

= Europa

= Australien

= Mount Everest

= Sauerstoff

= boreales Klima 
(Nordlicht)

= Antarktis

= Afrika 
(Elefant, Nashorn, 
Büffel, Löwe, 
Leopard)

= gemäßigtes Klima 
(vier Jahreszeiten)

= Subtropen 
(afrikanische 
Savanne)

= Wasserkreislauf

= Nordamerika

= Windkraftanlagen

= Photovoltaik

= Tundra

= Eiskappen

= Raumstation ISS

= Grand Canyon

= Südamerika



Lösungen – Unsere Erde

= Asien

= Tropen 
(Titanenwurz)

= Marianengraben

= Sternschnuppen

= Atmosphäre

= Bodenschätze

= Erdschichten


